

Sec → 6

$$\textcircled{1} \quad x^2 \frac{d^2 y}{dx^2} + 4x \frac{dy}{dx} + 2y = e^{2x} \quad (\text{given})$$

$$\{D(D-1) + 4D + 2\}y = e^{2x}$$
$$(D^2 + 3D + 2)y = e^{e^z} \quad [\because x = e^z]$$

Auxiliary equation,

$$m^2 + 3m + 2 = 0 \Rightarrow m = -1, -2$$
$$CF = C_1 e^{-z} + C_2 e^{-2z}$$

$$PI = \frac{1}{D^2 + 3D + 2} e^{e^z}$$

(using general method to find PI)

$$= \frac{1}{(D+1)(D+2)} e^{e^z} = \left( \frac{1}{D+1} - \frac{1}{D+2} \right) e^{e^z}$$

$$= \frac{1}{D+1} e^{e^z} - \frac{1}{D+2} e^{e^z}$$

$$= e^{-z} \int e^z e^{e^z} dz - e^{-2z} \int e^{2z} e^{e^z} dz$$

$$\text{let } e^z = t \Rightarrow e^z = dt$$

$$= e^{-z} \int e^t dt - e^{-2z} \int t e^t dt = e^{-z} e^t - e^{-2z} (t e^t - e^t)$$

$$= e^{-z} e^{e^z} - e^{-2z} (e^z e^{e^z} - e^{e^z}) = e^{-2z} e^{e^z}$$



Complete solution,  $y = Cf + PI$

$$y = C_1 e^{-2x} + C_2 e^{-2x} + e^{-2x} e^{2x}$$

$$y = C_1 \left(\frac{1}{x}\right) + C_2 \left(\frac{1}{x^2}\right) + \left(\frac{1}{x^2}\right) e^{2x}$$